FfE R:SM06511 8141
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wEHAY V-0 TT

OouT| IN GR |HDCP| NET fw% JEL K % OouT| IN GR |HDCP| NET fe%
47 | 47 | 94 126.0 68.0 AE 41 #K #F 49 | 47 | 96 |16.0 |80.0
43 | 45| 88 /19.0 69.0 AE 42 Bk (BFE 50 | 50 |100 |20.0 |80.0
46 | 43| 89 /19.0 |70.0 | AEIN4yF33.5 |43 |FER —*k 47 | 51| 98 18.0 |80.0
43 | 45| 88 /18.0 |70.0 [IN4vI36 44 \FA BB 48 | 55 103 [23.0 180.0
42 | 45| 87 |17.0 |70.0 |IN4v}36.5 BG | 45 | T 56 | 48 104 |23.0 |81.0
44 | 50 | 94 [24.0 |70.0 IN#y38 46 L4 AR ERR 53 | 50 103 |22.0 |81.0
48 | 49| 97 |26.0 |71.0 47 \BlBE  —3L 46 | 51 | 97 |16.0 |81.0
49 | 46 | 95 (23.0 |72.0 48 |k EEN 49 | 55 104 [23.0 |81.0
45 | 47| 92 120.0 |72.0 49 BB T 59 | 47 |106 |24.0 |82.0
10 |[@4 FE 46 | 45| 91 18.0 |73.0 50 X AE 58 | 54 1112 |30.0 |82.0
1 Ig = 45 | 45| 90 |17.0 |73.0 51 (tkE FE 54 | 51 105 |23.0 |82.0
12 |iZH #BiE 48 | 48 | 96 123.0 |73.0 52 i=H EBEET 51 | 51 /102 |20.0 |82.0
13 | AR BZ 47 | 44| 91 |17.0 |74.0 53 kA & 46 | 55 101 [19.0 |82.0
14 |/\PR o fE— 50 | 49| 99 |25.0 |74.0 54 NEF BET 53 | 49 /102 |19.0 |83.0
15 |HFT 1% 51 52 /103 |28.0 |75.0 55 HH FEX 52 | 48100 |17.0 |83.0
16 B FHIB 48 | 49 | 97 [22.0 |75.0 56 BE JTAX 53 | 50 |103 |20.0 |83.0
17 | #0O R3E 51 | 53 104 |29.0 | 75.0 57 AT EHE 50 | 49 | 99 |16.0 |83.0
18 |[REH B 48 | 50| 98 /23.0 |75.0 58 KAl & 50 | 50 [100 |17.0 |83.0
19 BEE HFfE 45 | 48 | 93 /18.0 |75.0 59 BFH SR 54 | 57 |111 |28.0 |83.0
20 = = 45 | 49 | 94 119.0 |75.0 60 Rx =i 55 | 49 /104 |20.0 |84.0
21 | b2 RRE 50 | 44| 94 18.0 |76.0 61 hoE A 51 | 49 100 |16.0 |84.0
22 BlR HETF 50 | 51 /101 |25.0 |76.0 62 & ahfd 50 | 51101 |16.0 |85.0
23 | BT 46 | 47 | 93 17.0 |76.0 63 AR 48 | 53101 |16.0 |85.0
24 \#E IEC 48 | 54 1102 |26.0 |76.0 64 XKE IHE 59 | 55 114 |28.0 |86.0
25 'mH EIE 48 | 48| 96 (19.0 |77.0 65 =IF JRE 55 | 57 |112 |26.0 |86.0
26 IRFF Bz 51 | 53104 |27.0 |77.0 66 FE MR 52 | 58 (110 |24.0 86.0
21 | I;A E 47 | 50 | 97 |20.0 |77.0 67 |2F 1TI# 50 @ 55 /105 |18.0 |87.0
28 /NP BT 44 | 50| 94 17.0 |77.0 68 &EX Flh 55 | 53 /108 |20.0 |88.0
29 IlbA =2 44 | 50 | 94 [17.0 |77.0 69 Il BEIE 54 | 53 /107 |19.0 |88.0
30 M1 M 52 | 45| 97 /19.0 |78.0 70 Ly EE 52 | 55 /107 |19.0 |88.0
31 /R 1B 51| 47 | 98/20.0 |78.0 1 EfE whY 55 | 58 113 25.0 |88.0
32 EH & 49 | 45| 94 16.0 |78.0 72 BH  HEE 55 | 53 /108 |16.0 |92.0
33 \fgE UL 48 | 49| 97 |19.0 |78.0 73 \#%H iEF) 58 | 54 /112 19.0 |93.0
34 | AE ERRE 45 | 50 | 95 17.0 |78.0 74 Hit A= 58 | 58 116 |23.0 |93.0
35 FKEH BX 48 | 48 | 96 [17.0 |79.0 75 9 EETF 61 | 62 123/30.0 |93.0
36 #5R WE 54 | 54 1108 |29.0 |79.0 76 BIE %7 54 | 65119 |21.0 |98.0
37 | Kkt =aE 48 | 53101 |22.0 |79.0 77 |3 SERER 56 59 115 16.0 99.0
38 ' HH #— 48 | 53 101 [22.0 |79.0
39 9K MZE 48 | 54 102 |23.0 |79.0 mm A)I| HF 48 | 54 1102 [30.0 |72.0 #7E [2024.5]
40 [fFER i 54 | 48 102 |22.0 180.0 miam HA, EB 49 | 57 |106 [19.0 |87.0 #1E [2024.3]
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